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[ Rrel 992 48 A2 A9e A4S 1AL,

(1) 625m =|_|km
(2) 201kg =] g

@ (1) 625000 (2)20.1 @ (1) 0.625 (2) 2.01
@ (1) 0.625 (2) 201 @ (1) 0.625 (2) 20100

@) (1) 0625 (2) 2010

B

1km = 1000 m

1kg =1000g

(1) 625m = 625><—k —65k = 0.625km
1000 1000

(2) 2.01kg = 2.01 X 1000g = 2010 g
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(2) [ gtell gt 2 A2 242,

@ (1) 0.01 (2) 0.12,0.12 @ (1) 0.01 (2) 0.13,0.14
@(1) 0.01 (2) 0.14,0.13 @ (1) 0.1 (2) 0.13,0.13
® (1) 0.1 (2) 0.14,0.13

0.14 0.13 0.27

¢ 0.1 0.2 0.3
@0.01
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(1) 2.77+5.08 (2) 5.16 + 12.78

@ (1) 7.75 (2) 62.94 @ (1) 7.75 (2) 17.94
® (1) 7.75 (2) 17.98 @)(1) 7.85 (2) 1704
® (1) 7.85 (2) 17.98

(1) 2.77 4+ 5.08 = 7.85
(2) 5.16 + 12.78 = 17.94




(1) 5.98-3.79 (2) 4.71 - 2.69

D (1) 2.29 (2) 2.22 @ (1) 2.29 (2) 2.12
@ (1) 219 (2) 2.22 @ (1) 2.19 (2) 2.12
@) 219 (2) 202

(1) 5.98 - 3.79 = 2.19
(2) 4.71 - 2.69 = 2.02




< St 100m D74 S 15.73 %, YaHs 13.88
71595 Uh 7t dotrE o whEz] FshA

O $A, 1.75% @ vt 1.75% ® A, 1.85%

@Urﬂh 1.85% ® A, 1.95%

15.73 - 13.88 = 1.85 o] 2. &
Uepr} 1.85% o whac,
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(1) 5.789 4 2.981 =
(2) 3.892 + 5.002 =

@ (1) 8.769 (2) 8.884 @ (1) 8.769 (2) 8.894
@ (1) 8.77 (2) 8.884 @) (1) 8.77 (2) 8.804
® (1) 8.771 (2) 8.894

(1) 5.789 + 2.981 = 8.77
(2) 3.892 + 5.002 = 8.894




10.802-7.263-1.998 = |-1.998 = |

@ 3.528, 1.54 @ 3.529, 1.541 @ 3.538, 1.54
@3.539, 1.541 ® 3.539, 1.551

10.802 — 7.263 — 1.998
= 3.539 — 1.998 = 1.541




9. =< HEA AR Ae 1EAL,

(1)5.137-4.56  (2) 6.319 — 4.722

D (1) 0.571 (2) 1.597 @ (1) 0.571 (2) 1.587
® (1) 0.571 (2) 2.597 @) 0577 (2) 1597
® (1) 0.577 (2) 2.597

(1) 5.137 — 4.56 = 0.577
(2) 6.319 — 4.722 = 1.597




10. [ | Qbef ggre 5 upEA 3 Fe 12A L.

(1) 13.7m + 116cm = |m
(2) 28cm + 2.9m :Em

@ (1) 14.82 (2) 30.9 @ (1) 14.83 (2) 30.9

® (1) 14.84 (2) 30.9 @ (1) 14.85 (2) 3.18

O

®)(1) 14.86 (2) 3.18

(1) 13.7m + 1.16 m = 14.86( m)
(2) 0.28m +2.9m = 3.18(m)




(1) 3642 001°1[ ]9 5dUch
(2) 8.062>0.001° [ ] $=4Yrch,

@ (1) 3.64 (2) 806 @ (1) 3.64 (2) 8060
® (1) 36.4 (2) 8060 @ (1) 364 (2) 806
@(1) 364 (2) 8060

~&B

(1) 3.64 = 3+ 0.64
3-20.01°] 300°]1, 0.64+= 0.01°] 640]| 22
3.64%= 0.01°] 364 <1 =4t

(2) 8.06 = 8 + 0.06

8-2-0.001©] 8000°] 1 0.06-2 0.001 ©] 60°] =&
8.06-2 0.001°] 80601 =AYt
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13. 7Axt 237t 22 AR H Aoz 7128 2 A& 2L,

@ 2.68 +2.576 © 094 +4.17

© 6.213 -1.865 ® 8-2111

® 60-0e@ @606 @ 0e60e
@eoc6e 6 e0eo

~&B

@ 2.68 + 2.576 = 5.256

© 0.94+4.17=5.11

© 6.213 — 1.865 = 4.348

® 8-2.111 = 5.889
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15. theold 7P 2 4k o= AQU7A

@ 0.01°] 21321 & Oo 001°] 2135¢1 4=
@ 0.001°] 204091

O~
T
® 0.001°] 2004 %1 &=

S8 ~
@ 2.13

@ 2.135

® 2.04

@ 1.99

® 2.004

249 S7|= A dE H5o] 2= S
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